N & 0 & At A M A
SN MBET AR A
HE: AST - Ala 2P
ool 22X S (S &S)
S BA(SA) - ABAY - BES 0 &k o p[EL" HDE2
ABHEE A A 7,049,583 6,433,364 616,219
=2 275,547 54,946 220,601
s 208,256 0 208,256
< 110,300 0 110,300
2 6,455,480 6,378,418 77,062
MAT AR 2E 588,470 93,449 495,021
=2 275,547 54,946 220,601
s 164,120 0 164, 120
< 110,300 0 110,300
2 38,503 38,503 0
S2 X R e 534,967 54,946 480,021
=2 275,547 54,946 220,601
s 149,120 0 149,120
< 110,300 0 110,300
T oH T o = 2 A 480,021 0 480,021
= 220,601 0 220,601
s 149,120 0 149,120
= 110,300 0 110,300
401 AIEHIZ 2 0H Y] 480,021 0 480,021
= 220,601 0 220,601
s 149,120 0 149,120
= 110,300 0 110,300
01 Al& b 476,714 0 476,714
O=gH #A =2ZAH(HZTI6H) 85,232 0 85,232
=2 42,232 0 42,232
s 21,500 0 21,500
< 21,500 0 21,500
OZ2R Q4+ HANE 22 =B AH(EHZ T oH
) 352,662 0 352,662
=2 175,062 0 175,062
s 88,800 0 88,800
< 88,800 0 88,800
OWAE2E ol =PZAHEHNSTH) 12,600 0 12,600
s 12,600 0 12,600
OGMELE Mol S22 AHEHSTH) 2,970 0 2,970
s 2,970 0 2,970
OZ0IDISASTAIE ol SRDAHEHZ ) 7,900 0 7,900
s 7,900 0 7,900
OLBH2HAE Mol =2 AHEHZTIH) 7,850 0 7,850
= 7,850 0 7,850
ONAHLE o =RZAHEHSIH) 6,000 0 6,000
s 6,000 0 6,000
OO THESSAIE THoH =SB AH(EHE
&) 1,500 0 1,500
s 1,500 0 1,500
03 Al 2 THH| 3,307 0 3,307
O=2H #8A =2ZA 768 0 768
= 768 0 768
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2A Mot T A A
HE: AT - AL e
©R SR/ X K2 (9 ® =)
SA-ZH () - HRAY - BES Ofl & oH JEH Hns2Z
OZalil Q+xelAd 22 =27 2A 2,539 0 2,539
= 2,539 0 2,539
NYa=C ALY 15,000 0 15,000
£ 15,000 0 15,000
B S=3A 15,000 0 15,000
= 15,000 0 15,000
206 T 2 8| 15,000 0 15,000
= 15,000 0 15,000
01 M2 4l 15,000 0 15,000
OFALHE sHEXNE =ZHSI| WA 15,000 0 15,000
£ 15,000 0 15,000
stz 22 44,136 0 44,136
= 44,136 0 44,136
ITo+E L ALHAANERABL 44,136 0 44,136
£ 44,136 0 44,136
XH oHf Il off = =2 AL 44,136 0 44,136
£ 44,136 0 44,136
401 AIEBIZ 201 8I 44,136 0 44,136
£ 44,136 0 44,136
01 A& HI 44,136 0 44,136
O2ZE, Esg3Sot=HeANE B3 A
EH S Ol o) 44,136 0 44,136
£ 44,136 0 44,136
MPES (Mot AIEA) 6,416,977 6,339,915 77,062
HEAHHK = 6,416,977 6,339,915 77,062
o ZISEXNH &3 2,653,932 2,561,478 92,454
09 MEZ 525,202 179,504 345,698
01 BIILELIHZIHNES 525,202 179,504 345,698
OHdt=% BIUSEINH MNES 525,202 179,504 345,698
404 SIS NHENES 2,128,730 2,381,974 A 253,244
01 BIILELEIIAHNEBNES 2,128,730 2,381,974 A 253,244
O&ot+=E BINLELIN HES 2,128,730 2,381,974 A 253,244
ot== ZBIIHXNE dE= 3,763,045 3,778,437 A 15,392
309 MEZ 706,715 819, 101 A 112,386
01 BIILELEIHBHEES 706,715 819, 101 A 112,386
Odt=& BIILELEINH HES 706,715 819, 101 A 112,386
404 I MENES 3,056,330 2,959,336 96,994
01 BIISELINHUNENES 3,056,330 2,959,336 96,994
Oot=% SIILSEH &= 3,056,330 2,959,336 96,994
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